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NEW QUESTION 1
What three types of host bus adapters are supported for connecting to shared storage on an ESXi hosts? (Choose three.)

A. Hardware HBA
B. Software SATA
C. Software iSCSI
D. Software FCoE

Answer: ACD

NEW QUESTION 2
What three configuration steps are required to mount an NFS datastore in vSphere? (Choose three.)

A. On virtual machines running Microsoft Windows, increase the value of the SCSI TimeoutValue parameter to allow Windows to better tolerate delayed I/O
resulting from path failover.
B. Configure VMkernel Port Binding.
C. On each ESXi host, configure a VMkernel Network port for NFS traffic.
D. On the NFS server, configure an NFS volume and export it to be mounted on the ESXi hosts.
E. If you plan to use Kerberos authentication with the NFS 4.1 datastore, configure the ESXi hosts for Kerberos authentication.

Answer: CDE

NEW QUESTION 3
What three steps must be taken when removing a host from a vSAN-enabled cluster? (Choose three.)

A. Remove VMkernel port with vSAN traffic checkbox checked.
B. Remove the host from vSAN cluster.
C. Remove disks from diskgroups, remove disk groups.
D. Place the host into maintenance mode with Full Migration option selected.
E. Create at least one vSphere Standard Switch.

Answer: BCD

NEW QUESTION 4
Which two statements are correct when licensing an ESXi 6.x host? (Choose two.)

A. ESXi licenses can only be applied to ESXi hosts connected to a vCenter Server.
B. Bulk licensing requires vSphere Auto Deploy to be enabled.
C. ESXi licenses can be assigned utilizing the ESXi host client.
D. Bulk licensing requires vSphere PowerCLI.

Answer: CD

NEW QUESTION 5
What are two valid methods to deploy an OVF template which consists of two or more VMs? (Choose two.)

A. Deploy on the VMware vSphere Hypervisor.
B. Deploy on a vSphere DRS enabled cluster.
C. Deploy on a vSphere HA enabled cluster.
D. Deploy on the standalone host connected to vCenter Server.

Answer: AB

NEW QUESTION 6
Which two network failure detection options are available when using a vSphere Standard Switch? (Choose two.)

A. Fixed with preferred path
B. Dynamic
C. Link status with Beacon probing
D. Link status only

Answer: CD

NEW QUESTION 7
Which three actions allow a VMware vSphere 6.x administrator to view vSphere log files? (Choose three.)

A. Analyze the vSphere logs from the vRealize Log Insight user interface.
B. Download the vSphere log bundles from the Direct Console User Interface (DCUI).
C. Download the vSphere log bundles from vSphere Web Client connected to a vCenter Server system.
D. View the vSphere log files from the vSphere Web Client Log Browser.
E. Analyze the vSphere logs from the vRealize Operations user interface.

Answer: ACD
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NEW QUESTION 8
Which three options are available when applying a Customization Specification to an existing virtual machine? (Choose three.)

A. Create a specification
B. Import a specification
C. Modify a specification
D. Select an existing specification.
E. Create a specification from an existing specification.

Answer: ADE

NEW QUESTION 9
Which statement describes a vApp?

A. It is a container, like a resource pool which can contain one or more virtual machines.
B. It is a software computer that, like a physical computer, runs an operating system and applications.
C. It is a file format that supports the exchange of virtual appliances across products and platforms.
D. It is a master copy of virtual machines that allows creation of ready-for-use virtual machines.

Answer: A

NEW QUESTION 10
Which three installation methods are supported for a guest operating system within a virtual machine? (Choose three.)

A. ISO image from the datastore
B. CD-ROM
C. ISO image from a Content Library
D. ISO image from an external FTP Server
E. ISO image from Update Manager repository

Answer: ABC

NEW QUESTION 10
Which two components are built into the vCenter Server Appliance 6.x? (Choose two.)

A. vSphere Auto Deploy
B. vCenter Converter
C. vRealize Orchestrator
D. VMware vSphere Update Manager

Answer: AD

NEW QUESTION 14
When using vSAN, all the storage characteristics are specified by Storage Policies.
Which parameter in vSAN Storage Policies can increase performance in a cache miss situation?

A. Number of failures to tolerate
B. Number of disk stripes per object
C. Force provisioning
D. Object space reservation (%)

Answer: B

NEW QUESTION 19
Which three steps deploy a virtual machine from a VM Template in the Content Library? (Choose three.)

A. Right-click a VM Template and select New VM from This Template.
B. In the vSphere Web Client navigator, select vCenter Inventory Lists > VM Templates in Folders.
C. Using vSphere Host client, select vCenter Inventory Lists > Content Libraries.
D. In the vSphere Web Client navigator, select vCenter Inventory Lists > Content Libraries.
E. Select a Content Library, click Related Objects tab and click Templates.

Answer: ACD

NEW QUESTION 22
What describes a set of patches that meet certain criteria and will vary as the available patches change?

A. Upgrade Baselines
B. Fixed Patch Baselines
C. Host Profiles
D. Dynamic Patch Baselines

Answer: D

NEW QUESTION 25
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When trying to export the vApp to the OVF, the option is grayed out. What solution allows for the export of a vApp?

A. The vApp is marked as Non-Exportable.
B. Logout of the vSphere Client and use the vSphere WebClient.
C. Change the portgroup where the VMs are connected to.
D. PowerOff the vApp.

Answer: D

Explanation: 
Reference https://communities.vmware.com/thread/408957

NEW QUESTION 30
What is required to create a vSphere Distributed Switch? (Choose two.)

A. vSphere Enterprise Plus licensing is required.
B. Login to the ESXi Host with the Root account.
C. A minimum of two physical uplinks is required.
D. The host is added to a vCenter Server.

Answer: AD

NEW QUESTION 31
......
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